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Answer Question No.1 and 2 which are compulsory and any four from the rest.
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The figures in the right hand margin indicate marks.

Answer the following questions : (2 x10)
17 58 17

The value of |19 60 19|= (1,0,-1,2)
18 59 18

State the orderof [a b ¢ d] = (1x4,4x1,2x1,1x2)

i) The median of the series 1, 3, 2, 8,6 is
ii) The mode of the series 1,2, 2,3,2,4,1is

3 5 T T
If cos 0=;,cosp = - ,O<u<5, 0<B<E’
63 —63 56 —56
(6765 765" 65 )
The equation of a line passing through the point (-4,-7) and parallel to x-
axis= (y+7=0,y-7=0,x+7=0,x-7=0)

the value of cos(a-B)=

The equation of a line passing through the point (5,4) and having
Slope -4 is
(4x+y=24 4x-y=24 ,-4x+y=0,-4x-y=24)
x*-16 _

x-2

limx_,z

Find the differential coefficient of et®™* with respect to x.
ffn cosxdx = (0,1,-1,2)

Evaluate: [ xe*dx.

Answer the following questions: Short answer type (2 x10)
Find two consecutive natural numbers whose product is 56.

What is singular matrix and give one example?

Define median and give one example.

Find the value of sin75°

Find the distance between the points P (-3, 7) and Q (-1, 9).

Prove that the points (-2, 5), (0, 1) and (2,-3) are collinear.

s sin3x
Evaluate: lim,_, Sin2x

Differentiate e®°** with respect to cosx.
P
Evaluate: [ adx

Evaluate: [ xe*dx.
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1 1 1
Provethat|la b ¢
a’? b* ¢

Solve: 9x* + 20 = 29x2

Find the inverse of the matrix A=

Solve:4x* — 4x3 — 7x%2 — 4x + 4 = 0, x#0.

Compute the mean, median and mode of the following frequency distribution:

3 -3 4
2 -3 4
0 -1 1

=(a—b)(b—c)(c—a)

Wages (in Rs.)

20-30

30-40

40-50

50-60

60-70

No. of labourers

22

38

46

35

20

Show that (1+cotA-cosecA)(1+tanA+secA)=2

If acos@ + bsin® = p, asind — bcosO = q,
prove that a? + b? = p? + q*

Find the Value of sin18°

The four vertices of a quadrilateral are (1, 2), (6, 2), (5, 3)
the area of this quadrilateral.

Find the equations of the altitudes of the triangle whose

1),B(-3,8) and C(3,2)

. 2%—1
Evaluate: lim,

Vvi+x -1

FindZ ify = B3-x?)(x*-x+1)

dx

Find % if y=1loglogx

eX—sinx

Evaluate: [

e*+cosx

Solve:[ xsin dx

Solve: (2’;)72 dx

and (3, 4), find

vertices are A(6,-
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(5+5+5)

(5)
(5)

(5)
(8)
(7)

(5)
(5)
(5)

(5)
(5)
(5)
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